1.

& AP A A0 G Potolet,

B

=33 +3x2+x-6=0°Ax=-1, x=2F tgst¥

ch=xs

ZHAEZ ol-85te] leEalieti

-1 |1 -3 3 1 -6
-1 4 7 6

2 (1 -4 7 -6 0

(x+1)(x-2)(x2-2x+3)=0
- x:—lETE—x:QH:_T]:—lei \/ﬁl
whaba] AT e 1, 20|22 1 42 = 19|t}




1 _
2. A= 1—_H°1‘IH1+A+A2+A3+ -+ A0S TS

ot

bt

On @i ® 0 @®@-1 O

~&B

1+i (1+1)?

1-i (A-da+i)

A2 =2 =-1,A3=PB=—j A*=i*=1

T 1+A+ATH A3+ AL

=14+ (A+A2+ A3+ A%+

+(A97+A98 +A99 —|—A100)
=1+(-1-i+1)+(i-1-i+1)+--+(@G-1-i+1)
= 1)

A:




3. the WA WE o] 2 Fstele

(x?=2x)(x2=2x-2)-3=0

\VARR 4
02
o
|
w

~&B

(2 =2x)(x®* =2x-2) =3 =0 A

P-2x=t2EOH

t(t—2)-3=0,

-2t-3=0

(t-3)(r+1)=0

L t=3EEr=-1

(i) t=3,Fx*-2x=3¢
%% -2x-3=0
(x=3)(x+1)=0
x=-1F=x=3

(i) t=-1,5x*-2x=-14
¥ -2x4+1=0
(x=1)2=0
 w= 1 (F2)

E}E}Ali,—1><3x1=—3




BHA B =19 7S wet T W, 87 FolA gL AL BE
RESEAEY)
H7]
D +tw+l=0 O w=1
© w99+# —9 @ 005 4 1004 — _,
1

@ w18+w99+ﬁ:3
® 6, © @ © ® 6.6 @
@ © 0 0 ®a.e.0 0

~&B ~

»¥-1=0,
(x=1)(*+x+1)=0
>w=1Lw+w+1=0,

W=-1-w--0Q,0

1
99
w5
1
— ()3)33 —
= (w”) +W—2"‘©

w1005 +w1004
_ (w3)335 4 (w3)334 X w2

=’ +l=-w--®

1
w18 + w + =
w

:(w3)6+(w3)33+@:3-~@




@2 @ 4 ® 6 @ 8

® 10

xz—xy—2y2:_2 )

242 -3xy-2>=-3 -.-©Q
s 2A57] fls O x3- @ x 2514
¥ -3xy+2y2=0, (x-2y)(x—y) =0,
X=2yorx=y
x=2y% © 4o P
4?2 -2y2 =22 =-2,0= 285
x=yE Ol st
Y2329y = 9
¥=1y+1, x+1
L+ =1+1=2




6.

AN P +x4+2 =09 2 Z2 w2t M, f(x) = ax’
0)°ll tste] f(w) = 3wE W o] v, A5 4,69 &

® 12 @ -12 (@)15 @ -15

B

(a#

P +x42=09 T 5Zo] wo]EE

P trw+2=0 . ?=-w-2

f(w) = aw?® + bw + 12 = a(~w - 2) + bw + 12
=((b-a)w+ (12 -2a)

fw) = 3wolB R

(b-a)w+ (12 - 2a) = 3w

b-—a=3,12-2a=0 (- we 3F)

a=6 b=9




7. 1<x<aolAd Ty —2x—3a o] AT &gk A7t 4 Y
o, a °] 3F-2?

y=x>-2x-3a=(x-1)?-3a-1
AR x=19 1 = -3a-1
HAY: x=a @ W = d®-5a
nat-5a-(-3a-1)=4
=a’-2a-3=0

a=3(-a>1)




ojAfgt y = —x® - 2kx + 4k ©f HAgol M 4 W, M O] M=
Foa?

y=—x?—2kx+ 4k = —(x + k)% + k? + 4k
M = k? 4 4k 0| B2

M = (k+2)% -4 oJth.

oA M o] FEgh2 -4 ol




ol o

S

WA ax? 4+ ibx+c = 0°] o

9.

ax® 4+ bx + ¢ =09 Zo|tt.

1

olH iz

ol

24 bx+c =09 Zoltt.

-7 ax

o] ol

1:1(;— ;g] Al

® z7FFolx

0,az2 +ibz+c=0

az® +ibz + ¢

a(z?)—ibz+c =0,




10.

1 1
x:§(—1+ V3i) %‘Uﬁx+—1
SR
X+ i
X+ -
@ o @1
1— 3i -5+ V3i
® — ORI

B

x = %(—1+ V3i) oA 2x 4+ 1 = V3i
o] A]9] FHS A &sto] A5t

+—
2 1-+3i
-5+ V3i




